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FLUENCY AND SKILLS PRACTICE Name:
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Solving One-Step Inequalities
Solve the inequalities. Then graph the solution sets on the number lines.

1  24x , 8

  

2  t 2 3 # 2

  

3  r 1 6 . 13

  

4  228 # 27n

  

5  12.5 1 w # 15

  

6  29f , 81
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Solving Multi-Step Inequalities
Solve the inequalities. Then graph the solution sets on the number lines.

1  3w 2 10 $ 24

  

2  2x 1 4 , 8

  

3  3 , 1.5p 2 9 

  

4     b ·· 5    1 9 , 10

  

5     1 ·· 3   c 2 2    1 ·· 2    $    1 ·· 2   

  

6     4 ·· 5   (x 2 2) # 6
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Writing and Solving Inequalities
Write and solve an inequality to answer each question.

1  Tetsuo has 50 arcade tokens. Each 
arcade game at RetroRama costs 
4 tokens. How many games can 
Tetsuo play?

  

  

2  Kimberly has $120 to spend at the 
bookstore. Kimberly buys a hardcover 
book for $36, as well as some gift cards 
for her family and friends. Each gift card 
is $15. How many gift cards can 
Kimberly buy?

  

  

3  Kwame has a budget of $720 for his 
college class. He buys a laptop for  
$330 and wants to use the rest to buy 
computer programs. Each program  
costs $60. How many programs can 
Kwame purchase?

  

  

4  A farmer ties 4 bags on his mule. The 
mule can carry up to 200 lb and each 
bag weighs 30 lb. How many more bags 
can the mule carry?
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CENTER ACTIVITY  ANSWER KEY

Inequality Bingo

Check Understanding
Possible answer: n 1 6 . 210; n . 216

ACTIVITY ANSWERS

A: 32 # 22n

B: n 2 2 , 32

C: 6n . 21

D: n 1 (20.5) $ 21

E: 12n , 240

F: 212 1 (2n) $ 240

G: 5 1 n # 50

H: 50 $ 25n

I: 15 2 x . 230

J: x 1 (215) $ 30

K: 2x 2 8 $ 12

L: x 1 (28) # 12

M:    n ·· 12    , 220

N: 220 , 12n

O: 2 2 x .    2 ·· 3   

P:    2 ·· 3   x # 2

Q: 23n . 18

R:    n ··· −3    # 18

S: 40w $ 600

T: w 2 40 , 600

U: 60 1 t , 72

V: t 1 60 . 72

W:    1 ·· 2   w # 12

X: 2w . 12

Check Understanding
Possible answer: 2(n 1 6) . 210; n . 211

ACTIVITY ANSWERS

A: 32 # 22n 1 4

B: 22n 2 4 , 32

C: 6n 1 (2 0.5) . 21

D: 6(n 1 [20.5]) $ 21

E: 28 1 12n , 240

F: 28n 1 12 $ 240

G: 25(5 1 n) # 50

H: 50 $ 25 1 5n

I: 15 2 x . 230

J: x 1 (215) $ 30

K: 2x 2 8 $ 12

L: x 1 (28) # 12

M:    n ·· 12    , 220

N: 220 , 12n

O: 2 2 x .    2 ·· 3   

P:    2 ·· 3   x # 2

Q: 23n . 18

R:    n ··· −3    # 18

S: 400 1 15w $ 600

T: 600 2 15w . 400

U: 35 1 2t , 75

V: 35 1 2t . 75

W: 2(25 1 w) # 200

X: 25w . 200
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Apply It

	➤ Use what you learned to solve these problems.

 The sum of 43.5 and a number, n, is no greater than 50.  
What are all possible values of n? Show your work.

 SOLUTION  

  

 Sebastián says that the graph below shows the solution set of the inequality 
2.5x $ 220. Do you agree? Explain.

212 28 24 0 4 8 12

 Solve the inequality 248 , 28n. Then graph the solution set. Show your work.

 SOLUTION  

7

8

9

LESSON 19 | SESSION 2
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LESSON 19 | SESSION 3

Apply It

	➤ Use what you learned to solve these problems.

 The sum of 12 times a number, n, and 4 is no more than 190. What are all the 
possible values of the number? Show your work.

 SOLUTION  

 Which inequality’s solution set is shown on the graph below?

28 27 26 25 24 23 22 21 0 1 2

A 22 # 21.5p 2 8

B 22 $ 21.5p 2 8

C 22 # 1.5p 2 8

D 22 $ 1.5p 2 8

 Graph the solution set for the inequality   x 2 2 ····· 23   # 2   
5 ·· 6    . Show your work.

7

8

9
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Apply It

	➤ Use what you learned to solve these problems.

 A scuba diver takes underwater photos. They begin 
 swimming straight downward from an elevation  
of 25 meters relative to sea level. Their elevation changes  
at a constant rate of 2.5 meters per minute. When the scuba  
diver stops, their camera is still in a safe depth for use.  
For how many minutes could they have been swimming?  
Graph the solution set. Show your work.

 SOLUTION  

 Aiyana has $20.00 to buy photo frames. Each frame costs $4.50. She also wants to 
buy a box of nails for $2.25. Dylan models this situation with the inequality 
20 $ 4.5f 1 2.25. He says Aiyana can buy at most 4 frames. Did Dylan correctly 
interpret the solution of the inequality? Explain.

 Michelle has 8 cups of flour. She covers the countertop and the rolling pin with  

   1 ·· 2    cup of flour. Then she uses 2    1 ·· 4    cups of flour for each batch of biscuits she bakes. 

How many full batches of biscuits can Michelle bake? Show your work.

 SOLUTION  

6

7

8

LESSON 19 | SESSION 4
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Check Understanding

Use numbers and symbols to write an inequality to model the following sentence. 
Then solve the inequality.

The product of    2 ·· 5    and the sum of some number and 2.4 is no less than 

the opposite of 3.6.

Go Further

Solve and graph each of the inequalities that were in the covered row, column, or 
corners of the winning Game Board.

Inequality Bingo

What You Need
• Game Board, 1 per player

• Inequality Cards

• counters, 25 per player

What You Do

1  Shuffle the Inequality Cards and turn them facedown. 
Each player takes a Game Board.

2  Place a counter on the Free square of your Game Board.

3  Take turns. Select a card, read the sentence on the card 
aloud, and then place the card faceup where all players 
can read it.

4  Find the matching inequality on your Game Board, and 
place a counter on that square. Each Game Board has a 
match for every Inequality Card.

5  The first player to cover a row, column, or the four corners of their Game Board is 
the winner.

6  The other players check that each of the covered inequalities on the winner’s Game 
Board matches one of the Inequality Cards that was read during the game.

Example
This Game Board square 
and Inequality Card are 
a match because the 
inequality on the board 
models the sentence on 
the card.

0.3n 2 0.5 # 2.3

The value 0.5 less than 
0.3 times a number 
is no more than 2.3.

LESSON 19
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Check Understanding

Use numbers and symbols to write an inequality to model the following sentence. 
Then solve the inequality.

The sum of some number and 6 is greater than the opposite of 10.

Go Further

Solve each of the inequalities that were in the covered row, column, or corners of 
the winning Game Board.

Inequality Bingo

What You Need
• Game Board, 1 per player

• Inequality Cards

• counters, 25 per player

What You Do

1  Shuffle the Inequality Cards and turn them facedown. 
Each player takes a Game Board.

2  Place a counter on the Free square of your Game Board.

3  Take turns. Select a card, read the sentence on the card 
aloud, and then place the card faceup where all players 
can read it.

4  Find the matching inequality on your Game Board, and 
place a counter on that square. Each Game Board has a 
match for every Inequality Card.

5  The first player to cover a row, column, or the four corners of their Game Board is 
the winner.

6  The other players check that each of the covered inequalities on the winner’s 
Game Board matches one of the Inequality Cards that was read during 
the game.

Example
This Game Board square 
and Inequality Card are 
a match because the 
inequality on the board 
models the sentence on 
the card.

3n # 24

3 times a number is  
no more than 24.
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Check Understanding

Use numbers and symbols to write an inequality to model the following sentence. 
Then solve the inequality.

The product of 2 and the sum of a number and 6 is greater than  
the opposite of 10.

Go Further

Solve each of the inequalities that were in the covered row, column, or corners of 
the winning Game Board.

Inequality Bingo

What You Need
• Game Board, 1 per player

• Inequality Cards

• counters, 25 per player

What You Do

1  Shuffle the Inequality Cards and turn them facedown. 
Each player takes a Game Board.

2  Place a counter on the Free square of your Game Board.

3  Take turns. Select a card, read the sentence on the card 
aloud, and then place the card faceup where all players 
can read it.

4  Find the matching inequality on your Game Board, and 
place a counter on that square. Each Game Board has a 
match for every Inequality Card.

5  The first player to cover a row, column, or the four corners of their Game Board is 
the winner.

6  The other players check that each of the covered inequalities on the winner’s Game 
Board matches one of the Inequality Cards that was read during the game.

Example
This Game Board square 
and Inequality Card are 
a match because the 
inequality on the board 
models the sentence on 
the card.

3n 2 5 # 23

The value 5 less than 
3 times a number is  
no more than 23. 
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Fluency and Skills Practice
Also available as student workbook.

Leveled Math Center Activities Assignable Interactive Practice

STUDENT WORKTEXT

TEACHER DIGITAL EXPERIENCE

HIGH-QUALITY
Practice Opportunities

Engage and reinforce students’ mathematical thinking with a variety of 
rich practice opportunities that reflect the rigor of the standards. The 
practice in i-Ready Classroom Mathematics solidifies students’ conceptual 
understanding, allows them to develop fluency, and provides 
opportunities to apply their learning to novel situations. 

Duration

Class/Report Group

Grade 5, Section 1

Grade

5

Interactive Practice

Divide Decimals

Status Practice Results

Interactive Practice

Subject

Math

Student Due Date

Showing 19 of 19 

PDF

Not Started

Not Started

Not Started

In Progress

In Progress

In Progress

In Progress

In Progress

In Progress

Completed 1/19/21

Completed 1/19/21

Completed 1/19/21

Completed 1/19/21

Completed 1/19/21

Completed 1/19/21

Completed 1/19/21

Completed 1/19/21

Completed 1/19/21

Completed 1/19/21

Vo, Isaiah

Patel, Mia

Cochran, Damon

Ruiz, Justin

Warren, Santino

Baker, Danielle

Hess, Michael

Stanton, Geena

Powell, Elijah

Singh, Brian

Malone, Carla

Sanchez, Abby

Lowe, Noah

Ramirez, Gabriella

Choi, Isabelle

Tan, Melanie

Bowers, Tara

McDonald, Kal

Simmons, Tristan

1/22/21

1/22/21

1/22/21

1/22/21

1/22/21

1/22/21

1/22/21

1/22/21

1/22/21

1/22/21

1/22/21

1/22/21

1/22/21

1/22/21

1/22/21

1/22/21

1/22/21

1/22/21

1/22/21

-

-

-

3m

5m

5m

8m
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10m

13m

15m
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11m
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10m
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12m

-

-

-

-

-

-

-

-

-

100%

75%

80%

50%

100%

75%

80%

40%

100%

50%

3
 Not Started

6
In Progress

11
Completed

Interactive Practice Details 

Number of Assignments

Regina MooreAssess & TeachRosters HelpReports
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	➤ Complete the Example below. Then solve problems 1–8.

Example

Solve the inequality 2   1 ·· 3   (2x 1 5) ,, x.

Look at how you could show your work to solve an inequality with a 
variable on both sides.

 2   
1 ·· 3   (2x 1 5) ,, x

23  1 2  
1 ·· 3   2  (2x 1 5) .. 23x

 2x 1 5 .. 23x
 22x 1 2x 1 5 .. 23x 2 2x
 5 .. 25x

SOLUTION  

Apply It

 The water level in Rafael’s fish tank must be at least 11 in. for his fish to be 

healthy. He starts with a water level of 11    1 ·· 2    in. Then the water level 

decreases    7 ·· 8    in. Rafael adds water, but not enough for the fish to be healthy. 

How many inches of water could Rafael have added? Show your work.

 SOLUTION  

CONSIDER THIS . . .
Your solution should 
have a variable on 
only one side of the 
inequality symbol.

PAIR/SHARE
Why do you reverse the 
inequality symbol?

1
CONSIDER THIS . . .
Could an inequality 
help you model this 
problem?

PAIR/SHARE
What is the maximum 
number of inches of 
water Rafael could add 
to the tank?

Refine Writing and Solving Inequalities

LESSON 19 | SESSION 5 
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LESSON 19 | SESSION 5

 Which solutions, if any, do the inequalities 22(c 2 4) # 24 and    1 ·· 2   d 2 6 . 24 
have in common? Show your work.

 SOLUTION  

  

 An online company sells and ships T-shirts. The company has to pay extra to 
ship a box that weighs more than 13 oz. An empty box weighs 1.5 oz. Each 
T-shirt weighs 5 oz. Which number line best represents the possible numbers 
of T-shirts the company can ship in a box without paying extra for shipping?

A 
0 1 2 3 4 5 6

B 
0 1 2 3 4 5 6

C 
0 1 2 3 4 5 6

D 
0 1 2 3 4 5 6

Hannah chose B as the correct answer. How might she have gotten 
that answer?

2
CONSIDER THIS . . .
Number lines could 
help you compare the 
inequalities.

PAIR/SHARE
How can you check your 
answer?

3
CONSIDER THIS . . .
What types of numbers 
make sense in this 
situation?

PAIR/SHARE
Would your answer 
change if each T-shirt 
weighed 4 oz instead of 
5 oz? Explain.
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Practice Solving One-Step Inequalities
	➤ Study the Example showing how to write and solve an inequality.  

Then solve problems 1–5.

Example

The product of 23.5 and a number is no greater than 17.5.  
What are all the possible values of the number?

You can write an inequality to represent the situation.  
Then solve the inequality. 

 23.5n ## 17.5

    23.5n ····· 23.5    $$    17.5 ···· 23.5   

 n $ 25

You can graph the solution set on a number line.

210 29 28 27 26 25 24 23 22 21 0

 Explain why 3.5n # 217.5 does not have the same solution set as 23.5n # 17.5.

 Solve the inequality x 2 4 , 23. Then graph the solution set. Show your work.

 SOLUTION  

1

2

LESSON 19 | SESSION 2 Name:
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 The product of a number and 1.5 is less than the absolute value of the difference 
between 20 and 5. What are all the possible values of the number? 
Show your work.

 SOLUTION  

 Consider the inequalities 2   1 ·· 4   a . 3 and b 2 12 . 23. What values, if any, make 

both inequalities true? Show your work.

 SOLUTION  

 Solve the inequality x 1 2    1 ·· 2    . 2   1 ·· 2    . Graph the solution set on a number line. 

Show your work. 

 SOLUTION  

3

4

5
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Practice Solving Multi-Step Inequalities
	➤ Study the Example showing how to write and solve an inequality.  

Then solve problems 1–5.

Example

The sum of 25 times a number and 2.5 is no less than 22.5. What are all the 
possible values of the number? 

You can write and solve an inequality to find the possible values of the number. 
Then you can show all the possible values on a number line.

Let n represent the number. 

 22.5 # 25n 1 2.5

 22.5 2 2.5 # 25n 1 2.5 2 2.5

 20 # 25n

    20 ··· 25    $$    25n ···· 25   

 24 $ n

28 27 26 25 24 23 22 21 0 1 2

 Explain why 222.5 $ 5n 2 2.5 has the same solution set as 22.5 # 25n 1 2.5.

 Graph the solution set of    a ·· 2    1 5 . 4. Show your work.

1

2
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 The product of    8 ·· 9    and the sum of a number and 24 is less than or equal to 64. 

What are all the possible values of the number? Show your work. 

 SOLUTION  

 Solve 24  1 r 2   2 ·· 3   2   1 4 , 28. Show your work.

 SOLUTION  

 The value of 4 less than the product of 0.25 and x is greater than 6.  
What are all the possible values of x? Show your work.

 SOLUTION  

3

4

5
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Practice Writing and Solving Inequalities
	➤ Study the Example showing how to interpret an inequality to solve a problem. 

Then solve problems 1–4.

Example

Akira buys 50 tokens at the carnival. He gives his sister enough  
tokens for 5 kiddie rides. He wants to use some of his remaining 
tokens for thrill rides. How many thrill rides could he go on?

You can write and solve an inequality to solve the problem.

t 5 number of thrill rides

 5t 1 3(5) # 50

 5t 1 15 # 50

 5t 1 15 2 15 # 50 2 15

 5t # 35

    5t ·· 5    #    35 ·· 5   

 t # 7

0 1 2 3 4 5 6 7 8 9 10

Akira could go on 0, 1, 2, 3, 4, 5, 6, or 7 thrill rides.

 Akira’s sister from the Example is too young to ride alone. Akira uses tokens to go 
on the 5 kiddie rides with her. Now how many thrill rides can he go on? Explain.

 A truck holds at most 20,000 lb. There are 18 boxes on the truck. Each box weighs 
750 lb. How many additional boxes can the truck hold? Graph the solution. 
Show your work.

 SOLUTION  

1

2

LESSON 19 | SESSION 4 Name:
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 Workers at a wildlife center plan a new habitat for meerkats. 
The habitat must include at least 6.5 m2 of space for each 
meerkat. The area of the habitat is 78 m2. How many 
meerkats can the habitat hold? Write, solve, and graph an 
inequality to find the possible numbers of meerkats. 
Show your work.

 SOLUTION  

 A summer camp rewards campers and counselors with badges. The camp orders 
200 badges. They plan to give 25 badges to counselors. They ordered at least  
3 badges for each camper.

a. How many campers could be at the camp? Show your work.

  SOLUTION  

b. Are all of the values on the graph of c # 58 possible solutions? Explain.

3

4

LESSON 19 | SESSION 4
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 The math team wants to visit the Museum of Mathematics 
to celebrate Pi Day. They have $210 to spend. They need to  
buy 14 student tickets and 1 adult ticket. A student ticket 
costs $12, and an adult ticket costs $17. The team also 
wants to buy sugar-free fruit pies. Each pie costs $6. How 
many whole pies can the team buy? Show your work.

 SOLUTION  

 Marta and Kareem each solved the inequality 28(23.5 1 n) # 256. Their work is 
shown below. Explain why both strategies are correct.

 Marta Kareem

 28(23.5 1 n) # 256 28(23.5 1 n) # 256

 28 2 8n # 256    28(23.5 1 n) ··········· 28    $    256 ···· 28   

 28 2 28 2 8n # 256 2 28 23.5 1 n $ 7

 28n # 284 23.5 1 3.5 1 n $ 7 1 3.5

    28n ···· 28    $    284 ···· 28    n $ 10.5

 n $ 10.5

4

5

 Which solutions, if any, do the inequalities 22(c 2 4) # 24 and    1 ·· 2   d 2 6 . 24 
have in common? Show your work.

 SOLUTION  

  

 An online company sells and ships T-shirts. The company has to pay extra to 
ship a box that weighs more than 13 oz. An empty box weighs 1.5 oz. Each 
T-shirt weighs 5 oz. Which number line best represents the possible numbers 
of T-shirts the company can ship in a box without paying extra for shipping?

A 
0 1 2 3 4 5 6

B 
0 1 2 3 4 5 6

C 
0 1 2 3 4 5 6

D 
0 1 2 3 4 5 6

Hannah chose B as the correct answer. How might she have gotten 
that answer?

2
CONSIDER THIS . . .
Number lines could 
help you compare the 
inequalities.

PAIR/SHARE
How can you check your 
answer?

3
CONSIDER THIS . . .
What types of numbers 
make sense in this 
situation?

PAIR/SHARE
Would your answer 
change if each T-shirt 
weighed 4 oz instead of 
5 oz? Explain.
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LESSON 19 | SESSION 5

 Which inequality is the solution of 3(t 1 1) # 6t 2 13.5?

A t # 25.5

B t $ 25.5

C t # 5.5

D t $ 5.5

 Antonio is in a bowling league. His goal is to score an average of at least 
100 points per game. His scores so far are 105, 95, 97, 82, and 110. How many 
points can Antonio score in his next game to reach his goal? Show your work.

 SOLUTION  

 Math Journal Write a word problem that you can solve by writing and solving 
an inequality. Explain how to find the answer.

6

7

8

End of Lesson Checklist
  INTERACTIVE GLOSSARY Write a new entry for interpret. Tell what you do when you  

interpret the meaning of a variable in a problem situation.

  SELF CHECK Go back to the Unit 4 Opener and see what you can check off.
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	➤ Use what you have learned to complete these problems. 

 What is 2   5 ·· 6    4   1 2  1 ·· 3   2  ?

A 2   5 ·· 18   

B 2   5 ·· 2   

C    5 ·· 2   

D    5 ·· 18   

 A small apple weighs    5 ·· 16    lb. A digital scale shows the weight in decimal form. 

What weight, in pounds, does the scale show? Record your answer on the grid.  

Then fill in the bubbles.

. . . . . .

2

3

8

9

4

6

1

7

5

2

3

8

9

4

6

1

7

5

2

3

8

9

4

6

1

7

5

2

3

8

9

4

–

6

1

7

5

2

3

8

9

4

6

1

7

5

2

3

8

9

4

6

1

7

5

0 0 0 0 0 0

 Gualberto has a barrel that collects rainwater. As the rainwater evaporates, 

the height of the rainwater changes from 24.83 in. to 18.08 in. over a period of  

5    2 ·· 5    days. What is the average change in the height of the rainwater each day? 

Show your work.

 SOLUTION  

1

2

3
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UNIT 3 Cumulative Practice Name:

Set 1 Add Opposites 

	➤ Complete the models to represent and solve each problem.

  The temperature on a winter morning is 23°F. In the afternoon, the temperature  
increases by 3°F. The expression (23) 1 3 represents the temperature at the end  
of the afternoon. What is the temperature at the end of the afternoon?

23 22 21 1 2 30

  A diver is 8 feet below sea level. She swims up 8 feet. The expression 28 1 8  
represents the diver’s elevation relative to sea level. What is the diver’s elevation  
relative to sea level now?

2 2 2 2 2 2 2 2

Set 2 Add with Negative Integers

	➤ Use the horizontal number line to fill in the blanks.

210 28 26 24 22 2 4 6 8 100

  2 1 5 is located to the        of 2, and 2 1 (–5) is located to the 

       of 2.

  24 1 6 is located to the        of 24, and 24 1 (26) is located to the 

       of 24.

  23 1 2 is located to the        of 23, and 23 1 (22) is located to the 

       of 23.

  8 1 (23) is located to the        of 3 and 28 1 3 is located to the 

       of 3.

1

2

1

2

3

4
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 Carla says that (25)(27) 5 235, but she is incorrect. What is one change you can 
make to Carla’s equation to make it correct? Explain your reasoning.

 SOLUTION  

  

  

 The grocery store sells cheddar cheese at the deli counter. The weight of the 
cheddar cheese changes by 28 lb in 5 days. What rational number represents the 
average change in pounds of the cheddar cheese each day?

A 21.6   B 20.625

C 0.625   D 1.6

 Rita and Fazil are working on a math project. Rita says that    
  5 ·· 6  
 ··   3 ·· 2  
    and 0.5 are not 

equal. Fazil says that    
  5 ·· 6  
 ··   3 ·· 2  
    and 0.5 are equal. Who is correct? Explain your reasoning.

 SOLUTION  

  

  

  

 Which expressions have a value less than 1? Choose all the correct answers.

A 27 •    1 ·· 2   2 4    B 27 •   1   1 ·· 2   2 4 2  

C 27 •    1 ·· 2   • (2 4)    D 27 1    1 ·· 2   • (24) 

E 27 4   1 2  1 ·· 2   2  1 4 

4

5

6

7
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GAME Name:

Page 1 of 4

Positives and Negatives 

What You Need
• Recording Sheet  

(1 for each player)

• Rational Number Cards 

Directions
• For each round, shuffle the Rational Number Cards, give each 

player four cards, and place the remaining cards facedown in a pile.

• On your turn, you may discard up to three cards or pass. If you 
discard any cards, pick the same number of cards from the 
facedown pile. Once each player has had a chance to discard or 
pass two times, select two cards to use for the round.

• Based on the description in the Recording Sheet, use the two 
numbers you chose to make and record a calculation.

• After all players have finished, check each other’s calculations. If 
your calculation is correct, you score 1 point. You also score 1 point 
if the result of your calculation best matches the description. 
Record your points on your Recording Sheet.

• Collect and shuffle the cards between each round. After five 
rounds, the player with the most points wins.

KEEP IN MIND . . .
For each round, consider 
whether it is best to select two 
positive numbers, two negative 
numbers, or one positive and 
one negative number. 

Sample Recording Sheet

©Curriculum Associates, LLC Copying permitted for classroom use.

GAME Name:

UNIT 3

GRADE 7  UNIT 3 

RECORDING SHEET

Page 2 of 4

Positives and Negatives

Round Description Calculation Points

1 Least Sum

2 Greatest Difference

3 Least Product

4 Greatest Product

5 Least Quotient

Total Points:

Khalid

23    1 ·· 3    1 (28) 5 211    1 ·· 3   2

10 2   3 ·· 4   –3   1 
··
 

3
   –8

UNIT 3

GRADE 7  UNIT 3
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Set 3 Add with Negative Numbers

	➤ Add. Show your work. 

  6 1 (210)   23 1 (24)

  8 1 (26)   17.5 1 (222.3)

  23.2 1 (24.8)      1 ·· 6    1   1 2   2 ·· 3   2  

  1    3 ·· 4    1   1 22   1 ·· 4   2    23    1 ·· 2    1 1    1 ·· 4   

Set 4 Subtract with Negative Integers

	➤ Fill in the blanks.

 On a horizontal number line, 3 2 4 is located to the        of 3 and 

3 2 (24) is located to the        of 3.

  On a horizontal number line, (25) 2 (22) is located to the        of 25 

and (25) 2 2 is located to the        of 25.

 The distance between        and        is |2 2 (24)|.

 The distance between        and        is |25 2 (23)|.

 The difference 7 2 (23) is equivalent to the sum 7 1       .

1 2

3 4

5 6

7 8

1

2

3

4

5
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UNIT 3 Cumulative Practice Name:

Set 5 Subtract with Negative Numbers

	➤ Subtract. Show your work. 

  1 2 (24)   2   3 ·· 5    2    2 ·· 10   

  215 2 (29)   215.2 2 (212.8)

  21.5 2 (22.8)   22 2 (25)

  22    1 ·· 2    2 3    1 ·· 2     4    5 ·· 6    2   1 22   1 ·· 3   2  

Set 6 Add and Subtract Positive and Negative Numbers

	➤ Add or subtract. Show your work.

  4 1 (28)   258.4 1 (224.7)   216 2 (225)

  236.2 2 (217.6)   24    2 ·· 3    1 12   8.3 2 (26.8)

1 2

3 4

5 6

7 8

1 2 3

4 5 6
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GAME Name:

RECORDING SHEET

Page 2 of 4

Positives and Negatives

Round Description Calculation Points

1 Least Sum

2 Greatest Difference

3 Least Product

4 Greatest Product

5 Least Quotient

Total Points:

UNIT 3

GRADE 7  UNIT 3
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GAME Name:

✂

Page 3 of 4

 RATIONAL NUMBER CARDS

0 1 –1 2 –2

3 –3 4 –4 5

–5 6 –6 7 –7

8 –8 9 –9 10

UNIT 3

GRADE 7  UNIT 3
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GAME Name:

✂

   1 ·· 2    –    1 ·· 2      1 ·· 3    –    1 ·· 3      1 ·· 4    

–    1 ·· 4      1 ·· 5    –    1 ·· 5      1 ·· 8    –    1 ·· 8   

1   1 ·· 2   –1   1 ·· 2   1   1 ·· 4   –1   1 ·· 4   2   1 ··· 10   

–2   1 ··· 10   2   3 ·· 4   –2   3 ·· 4   3   1 ·· 3   –3   1 ·· 3   

Page 4 of 4

  RATIONAL NUMBER CARDS continuedUNIT 3

GRADE 7  UNIT 3
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Performance Task
	➤ Answer the questions and show all your work on separate paper.

A soap maker tracks costs of olive oil, coconut oil, and sodium 
hydroxide. The table below shows the cost of each ingredient last 
week and the change in cost per ounce. Find the new cost per ounce 
and complete the table. Round all values to the nearest cent.

Ingredient Last Week’s Cost
Change in Cost per 

Ounce
This Week’s Cost per 

Ounce

Olive oil $12.60 for 40 oz 1$0.03

Coconut oil $15.75 for 18 oz 2$0.13

Sodium hydroxide $0.75 for 0.5 oz 2$0.05

To make a batch of soap, she needs the following ingredients:

30 oz olive oil

7 oz coconut oil

7 oz sodium hydroxide

Each batch makes 14 bars of soap.

The soap maker can buy each ingredient in any amount. She will make as many 
whole batches as possible using this week’s costs and a budget of $150. Choose a 
sales price for one bar of soap and determine how much profit the soap maker will 
make this week if she sells all the bars that she makes.

Reflect
Use Mathematical Practices After you complete the task, choose one of the 
following questions to answer.

•  Make Sense of the Problem How did you use the information in the table to find 
the new cost per ounce?

• Be Precise How did you know if an answer needed to be rounded?

 Checklist

Did you . . .

 Complete the table?

  Set a sales price that is 
higher than the cost to 
ensure a profit?

 Find total profit?
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Set 7 Identify the Constant of Proportionality in Graphs

	➤ Identify the constant of proportionality and what it represents for the 
relationship shown in each graph.

  What is the constant of proportionality for the relationship between minutes of  
swimming and the number of laps? What does it represent in this situation?

x

y

10

0

20

30

40 8 12

Number of Laps

M
in

ut
es

 S
w

im
m

in
g

  

  What is the constant of proportionality for the relationship between the number  
of tables and the number of people? What does it represent in this situation?

x

y

1

0

2

3

20 4

Number of People

N
um

be
r o

f T
ab

le
s

6 8 10

  

Set 8 Identify the Constant of Proportionality in Equations

	➤ Identify the constant of proportionality in each equation.

 What is the constant of proportionality in the equation y 5 5.4x?        

  The equation t 5    s ·· 5    gives the number of cups of tomatoes, t, required per cup of 

salad, s. What is the constant of proportionality?        

 In t hours, a jogger runs d 5 6t miles. What is the constant of proportionality?         

1

2

1

2

3
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STUDENT WORKTEXT

Bounce (K–8)Hungry Fish (K–8)

ONGOING PRACTICE OPPORTUNITIES

Match (K–8)

Cloud Machine (3–8)

Cupcake (2–8)

Learning Games Digital Math Tools powered by Desmos

STUDENT DIGITAL EXPERIENCE
Geometry Tool

Geometry Tool
Graphing Calculator Tool

Graphing Calculator
Scientific Calculator Tool

Scientific Calculator

Base-Ten Blocks

Counters and 
Connecting Cubes

Perimeter and 
Area Models

Multiplication 
Models

Fraction Models

Number Lines

Additional Tools:


